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Question 1 (25p) 

 

The European integration has lead to lower trade costs between its members. At the 

same time this implies that countries outside EU are disfavoured in the European 

market. Analyse the effects of this type of preferential tariff liberalisation. What are 

the welfare consequences? How are the welfare effects affected by a very in-elastic 

import demand? 

 

Question 2 (25p) 

 

Analyse the effects of economic integration in a model with two sectors: X and Y. 

The X-sector is characterized by increasing returns to scale, free entry, and Cournot 

competition. The Y-sector has constant returns to scale and perfect competition. 

Utility of the representative consumer is given by 

   U=(nX)αY1-α 

,and the cost function of X-sector firms is 

   C=f+cX, 

where all notation has its usual meaning. 

 

Question 3 (25p) 

 

Analyse formally a simple new economic geography model and discuss the no-black-

hole condition. 

 

Question 4 (25p) 

 

a) Under which conditions would a foreign fiscal stimulus have a negative effect 

on the domestic economy? Explain. 

 

b) What is the “Stability and Growth Pact”, and how would you evaluate it? 


